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Q.No: 1  Tilling is the process of which among the following?

2426877
frafafed & & Jars feae ufssr 82
Loosening and Turning of the Soil
A
frdY 3t Sar v 3R were
Harvesting of Plants
B
el Ft perd
Sowing of Seeds
Cc
el & garé
Irrigation of Farms
D

Jal $t Ri=mg
Correct Ans : A

Subject : General Knowledge

Q.No: 2 Which of the following awards has been given the title of ‘Alternative Nobel Prize’?

2426991
fofefad & § 5y @R &) 'Ieis Aied REGR' 3 Uy §f 78 72
Man Booker Prize
A
1 g [TOR
Right Livelihood Award
B
5 ATZAAIGS AT
Pulitzer Prize
Cc

TR &P R

D UN Human Rights Award
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HYeR AP AFATISR REPR
Correct Ans : B

Subject : General Knowledge

Q.No: 3 Pradhan Mantri Gramin Awas Yojana was earlier known as-

2427380
GUTTHE TTHI0T ST AISHT DY Ugd by T F ST Sirell Y-
Indira Awas Yojana
A
3T smarg g
Nehru Awas Yojana
B
ATE AT FrerT
Rajiv Awas Yojana
Cc
UEICEICIGR I EE ]
Rashtriya Awas Yojana
D

AP ST ST
Correct Ans : A

Subject : General Knowledge

Q.No: 4 At which Special Session of the United Nations General Assembly in 1975, a declaration was made for the establishment of a New
2428874 1nternational Economic Order (NIEO). It is regarded as “a turning-point in the evolution of the international community.

1975 ¥ g Y HETHT & 54 fady 9 # T T SiaRigh 3 ey (NIEO) &1 RITAT & AT T gwon &1 775 2
T "IRITT Ter & o # U Ayl A" /T Sl & |

First
A

Uga

Second
B

T

Sixth
C

B

Fifth
D

gigd

Correct Ans : C

Subject : General Knowledge
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Q.No: 5 The G20 is a global bloc composed by the governments and central bank governors from 19 countries and

2428875
G20, 19 9 3R P WHR 3R HEF o & TaRI gRT A T e =il g
Ireland
A
RS
Bora Bora
B
RT AR
European Union (EU)
C
I ¥ ()
Kauai
D
BT

Correct Ans : C

Subject : General Knowledge

Q.No: 6 Who is the current Director-General of ASEAN-Cambodia (July 2023)?

2428886
SRAM-SSTT (FATS 2023) B TIHH HEIRS BIF 82
Dr. Kao Kim Hourn
A
1. P13t few g
Garry Ibrahim
B
T gaie
Mark Neo
C
ard
Daniel R
D
St aR

Correct Ans : A

Subject : General Knowledge

Q.No: 7 Which among the following is the currency of Bhutan and Myanmar respectively?
2428933

frafafad & § wow: Yo ok WAR &t got & Wt 82

Ngultrum, Kyat
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CTCH, FTd

Peso, Rupee

T, U

kyat, Rupee

T, dudr

Rial, Dollar

feama, steR
Correct Ans : A

Subject : General Knowledge

Q.No: 8  The Blue Line is a demarcation line between Lebanon and which country?

2429061
& e, AT 3R by I & <9 T i Y 82
Syria
A
Wi
Iraq
B
N
Israel
C
QORI
Ukraine
D
o

Correct Ans : C

Subject : General Knowledge

Q.No: 9  The Prime Meridian passes through how many continents?

2429062
TYH HeATg 3T e TETEil I gy Tordl 82
Two
A
3
Four
B
ELH

(o} Three
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Six

£

Correct Ans : C

Subject : General Knowledge

Q.No: 10 The Khadi and Village Industries Commission works under which ministry?
2431484

@I} 3R RN AT fohg Hae & 3iefiT Bt R 82

Ministry of Micro, Small and Medium Enterprises

A
e, TY 3R Heaw Igd HATTd
Ministry of Agriculture
B
P dared
Ministry of Tribal Affairs
Cc
ST AT ST HAeg
Ministry of Corporate Affairs
D

PIURE ATHE! BT AT
Correct Ans : A

Subject : General Knowledge

Q.No: 11  When was the Agricultural Produce Trade and Commerce (Promotion and Facilitation) Bill introduced?
2432151

FYPH IAE AR Td T (Fad vd WRefiavon) fadues wa amn 1 o

2020
A

2020

2017
B

2017

2018
C

2018

2021
D

2021

Correct Ans : A
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Subject : General Knowledge

Q.No: 12 In which of the following year, the Lucknow pact was signed between Muslim League and Indian National Congress?

2433580
frofafed & ¥ feg of 7, ga dn ok uRda Il FRN & fT des Irsi R geaer far mr ur?
1915
A
1915
1917
B
1917
1916
c
1916
1914
D
1914

Correct Ans : C

Subject : General Knowledge

Q.No: 13 Who among the following made this statement: “Who lives if India dies”.

2433590
Ig HyF FEfiiaa o I feuer § - Vg forew 5w $fean s
Dr. Bhim Rao Ambedkar
A
ST +fiw ¥9 srdsaR
Sardar Vallabhbhai Patel
B
WER TEAHHTS T
Pt. Jawaharlal Nehru
C
Y. SATeY A1d A8
Jai Prakash Narayan
D

ST YHTRT ARTIT
Correct Ans : C

Subject : General Knowledge

Q.No: 14  Who is the current chairman of ICC Men's Cricket Committee? (July 2023)
2437130

ICC 3 fordhe Tfiifa & oA sreger &4 §2 (JaTs 2023)

A Anil Kumble
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St padt

Greg Barclay
B

T IIHA

Rahul Dravid
Cc

g FfaS

Sachin Tendulakar
D

.§
Correct Ans : B

Subject : General Knowledge

Q.No: 15 Powada folk music is associated with which of the following Indian states?

2440759

urareT A it Fafafed § @ frw yRda Tea & Teft 82

Chhattisgarh
A

ERIEN

Uttar Pradesh
B

I e

Uttarakhand
Cc

IRES

Maharashtra
D

HERTY

Correct Ans : D

Subject : General Knowledge

Q.No: 16 A painting in Shahi Quila of Burhanpur is supposed to have inspired the design of which famous monument in India?

2441199
AT 9T 6 SRR & 2 b # ww U A R & v uitig iR & fEoga &1 ORa 3 are
Gwalior Fort

A
TaTferaR farem
Taj Mahal

B
drel Hed

C Qutab Minar
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Pad HAR

Char Minar

IR 1R

Correct Ans : B

Subject : General Knowledge

Q.No: 17 Which of the following villages is known for traditional ‘Galsan Maala’ of beads?

2441348
frafafed & 9 1 a1 Ma Difodl & IRuRe T Trer & forg ST S 82
Aadharkanch
A
SMYRBTE
Katthiwara
B
FiYERT
Banda
Cc
st
Bargaon
D
CENICH

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Where is the Ahilya Bai Fort and Palace located?

2441403
sifgean a1 e ok wew Fel fud 82
Maheshwar
A
R
Omkareshwar
B
SRR
Chitrakoot
C
frrge
Maihar
D
5

Correct Ans : A
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Subject : General Knowledge

Q.No: 19 Who is the Author of the book “A Commentary and Digest on The Air, Act 1981".

2776140
"7 ) TS STRORE 3 g TR, Tdc 1981" T & g M g
Dr K K Khandelwal
A
SI. ¥. F. dsaa
Abhay Kumar
B
HHY FAR
Amit Shah
Cc
sifera =g
Shashi tharoor
D

R YR

Correct Ans : A

Subject : General Knowledge

Q.No: 20 The Hutti Gold mines are located in which of the following state?

2776141
721 Tiee T PR 3 @ fra wrea Ry 22
Maharashtra
A
HERTSY
Karnataka
B
Flcd
Kerala
C
Lok
West Bengal
D
ufgw e

Correct Ans : B

Subject : General Knowledge

Q.No: 21  Which is not included in solid waste?
2429276

B W S 3y H e el 82

A Metal Scrap
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UTg WhY

Paints & Oils
B

e 3R @

Toys And Furnishings
c

e ok wre-amE

Radioactive Materials
D

eatendf wrnft

Correct Ans : D

Subject : General Science

Q.No: 22 The animals whose body is formed by loosely aggregated cells and also they do not possess digestive cavity:

2429841
5 Sigait 1 TR R Teia HiRIwet I 9ar 8 iR 37 e g1 it 71 gt 3
metazoans
A
AT
eumetazoans
B
AT
parazoans
Cc
Rt
cryptogams
D
freria

Correct Ans : C

Subject : General Science

Q.No: 23 Who am I and to which class do I belong?

2429910
"I respire through lungs only and I have a heart with three chambers.”
AP IR R A A g2
"3} et el & T A g 3R A UrE A el aren f 21
uromastix (sand-lizard), reptilia
A

R (Ya-Byed), agu

B bubo , aves
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o, TS
columba, aves
c
e, Té
platypus, mammals
D

wfeud, TS

Correct Ans : A

Subject : General Science

Q.No: 24 Which of the following is a greenhouse gas?

2431691
e & & B 7 grew 1w 32
oxygen
A
Sffeifter
nitrogen
B
BT
carbon dioxide
C
FTE SIS3HTaTES
argon
D
3t

Correct Ans : C

Subject : General Science

Q.No: 25 A person is said to have fever when the reading of the thermometer is more than

2434296
yridtex Bt HET ¥ 31 g R A H TER T gl ol § -
98.3 °F
A
98.3 °F
100°F
B
100°F

C 100.4 °F
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100.4 °F

102.0 °F

102.0 °F

Correct Ans : B

Subject : General Science

Q.No: 26 In 1800, a British chemist, had shown that if electrodes were immersed in water, and a current was passed, bubbles of
2434576 oxygen and hydrogen were produced.

1800 #, Us fafewr @y, 3 femn o1 i afe 3aecs &1 Ul # SaiaT 9T ], SR U9 9RT Yatfed @ oid 8, of Sfiaie 3R g8giom
¥ gogd IO 8 g

Roger Penrose

AR TR

Marie Curie

o @

James Clark Maxwell

S TS AFHa

William Nicholson

faferaw e

Correct Ans : D

Subject : General Science

Q.No: 27 Sounds of frequencies less than about ___ cannot be detected by the human ear.
2434580
MG SHE GRIATHT _ J HH MRl o) @il &7 udr T8 evman o gevd g
100 Hz
A
100 g
80 Hz
B
80 &¢H
50 Hz
Cc
50 goo
20 Hz
D

20 &
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Correct Ans : D

Subject : General Science

Q.No: 28 Isopropyl alcohol can be used as -

2437203
AT Siehlgd BT ITNT $H YHR fobal o el § -
fuel for cars.

A
FRI F forg $em1
hand-sanitizers.

B
Y WBER (3 AfeTzerR)
fuel for cooking.

C
QT U5 & g oM
health-drink.

D
WA 1Y

Correct Ans : B

Subject : General Science

Q.No: 29 Who is the founder of students educational and cultural movement of ladakh (SECMOL) ?

2439798
WY UGHRAd U8 HedRd Halc 31 AERT (SECMOL) & TRITIF HH 32
Baba Amte
A
T 3T
Sonam Wangchuk
B
| TS
Chewang Norfel
Cc
JqivT ARGA
Rajendra Singh
D

s Rig
Correct Ans : B

Subject : General Science

Q.No: 30 What is the percentage of carbon dioxide in the atmosphere?
2439842
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IATST B HTaT IS ATaISS BT ufa=radt fha-t g2

1%
A

1%

0.03%
B

0.03%

1.5%
C

1.5%

0.9%
D

0.9%

Correct Ans : B

Subject : General Science

Q.No: 31 Which of the following vitamins helps in blood clotting?

2439921

e & @ PH-u1 faeifiE Yad & yaeT I § g BT 82

Vitamin K
A

faefim K

Vitamin C
B

faefim c

Vitamin D
C

faerfm D

Vitamin A
D

faefim A

Correct Ans : A

Subject : General Science

Q.No: 32 Farmers in a region experience distinct seasons throughout the year. The region receives heavy rainfall during the monsoon season,
2783652 fo|lowed by a relatively dry winter and a hot summer. The farmers in this region practice agriculture and cultivate various crops to
sustain their livelihoods.

Considering the climatic conditions, which of the following crops would be suitable for cultivation during the Rabi season in this region?

forelt & & e O ol S1eT- SrenT HINE &1 3FHT B B
39 & W AFYA & 9w & GRA W anf g §, o a1 sengd g wdf ofik el et gt R
U & ¥ fHar ot SreiifassT §91T wam & fow Sy ovd § oiR fafte et 3t €

Taarg IR & & o IEd gY, 30 & § & TH & IRH Feiiied § ¥ o9 IO vaa 9 & g Iuged gnfi?
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Rice
A

qrad

Maize
B

HIDT

Wheat
C

i

Cotton
D

DU

Correct Ans : C

Subject : General Science

Q.No: 33 Which of the following is an example of a plant that reproduces asexually through stolons or runners?

2783798
Faffed # 4 o a1 MY &1 IR0 ¢ S T A1 IR & A Y 3cifiie ¥ I UoH- SRl 82
Cactus
A
P
Pine tree
B
IR B
Strawberry
C
wrad
Oak tree
D
30 o5

Correct Ans : C

Subject : General Science

Q.No: 34 The binomial name for wolf is Canis lupus. Which of the following statements is NOT true about the binomial system of nomenclature?

2784633
A& &7 fgue T ST qUY B1 THEU FT fgue gomeh F IR e § § $F T $3F 99 T8l 72
The binomial system classifies organisms into kingdoms.
A
foue yomeht Shat #1 st A affea st 21
The binomial system was introduced by Carl Linnaeus.
B

fug worrelt @ret ff1erRT g1 E 1 1 ot
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The binomial system provides a unique name for each species

C
e ol vd® uenfa ¥ T T sifgdia W ueH wedl §
The first name is the Genus to which the organism belongs to and the second name is the species the organism belongs
to.

D

ugar 9 98 a9 & R ofte el @ ofik gaT A 9 wenfa @ Rred st waifta 21
Correct Ans : A

Subject : General Science

Q.No: 35 Which of the following parts of a leaf carries out most of the photosynthesis?

2784713
T & FEfifed ® @ S T U SHEH TR TP YRV SRl 87
Epidermis

A
wfsfifa
Vascular tissue

B
"I SHad
Guard cells

C
T8 PIY
Mesophyll

D
wiRuas/ A

Correct Ans : D

Subject : General Science

Q.No: 36 Find the odd word out.

2424521
ST eq BT =F BifeT|
Mississippi
A
ferftfRdt
Danube
B
ST
Mekong
C
i |

D Pampas
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UqT
Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424535
ST Teq BT T BT
Neon
A
=
Argon
B
St
Helium
c
diferaw
Chlorine
D
FARA

Correct Ans : D

Subject : General Reasoning

Q.No: 38 Find the odd word out.

2424541
ST Weq BT T BT
Cow
A
ma
Tiger
B
91
Jackal
C
Rar
Lion
D
W

Correct Ans : A

Subject : General Reasoning

Q.No: 39 In the diagram, Triangle represents the Bengali medium Students, Circle represents the Students work in Private sector, Square
2426586 represents the unemployed Students and Rectangle represents the Students who work in Govt. Sector.
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How many Bengali medium Students work in Govt. Sector?

3R H, Pyt el e & S B Uiafia wRa 7, g9 ol 8 J B & S8 &1 Uiaffia dRar 3, 7 SRISR B &1 ufaffia s § iR
AT TRHRY & | HTH A a1 S BT YT FHm 8

15 5

fopaa STl HIeH & B WHRT & T HH I 87

1
A

1

6
B

6

4
C

4

2
D

2

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Delhi, India and Bangladesh?
2426734

Frofed § § S 91 o e, HRd 3R I & o 9ad ofs doy &) gxifdr 82
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O
oXe
oXe
©o

Correct Ans : D

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427792 |ike which the paper will appear when unfolded.

b= =

T2 foT TN Uy B T T B & ¢hS B WeT SR BT 7T B, &t TS IR MBI & facbedl H § IH IR MPIa bl TG B, S b A iR F1e

Y SIS &I JieH TR SATHT |
r———— I____l
i‘ | | | | |
= =7 I .
1
i ]
o] o
X X
o x|
o] (=]
A
o] o
X 4
LS 1
v] [s]
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o [=]
x X
x X
o Q
B
o Q
% x
x x
O ]
o] o
x x
x x
o o]
C
8] L&)
x x
x x
o o]
Lo I
® x
X X
o 0O
D
Q Q
® x
% X
o 0O

Correct Ans : B

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427803 |ike which the paper will appear when unfolded.

- RN
r( 0 ! B
]
]
A

F2 T U Uy B H T HIIS b ¢hS B WeT SR BT T B, < TE IR SMBfA F el H § I IR MMPTA BT TG B, S b WS SR B

T BT B! /I TR AP T |
A

[0
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00
0

00
0

L
u=

=
=

U -
[]=

=
=

Correct Ans : A

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427804 |ike which the paper will appear when unfolded.

LN

AN

F2 T U Uy MBI H TP HIIS b THS B WST SR BT T ], TS IR SMHfA F Ahedl H Y I IR P BT TG B, S b WS SR Bre
T BT B! /I TR AP T |
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Correct Ans : D

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427817 |ike which the paper will appear when unfolded.

- -
- ~ - ~
£ A s Ay
f I A f \

1
X
~
el

FR foT T Uy o H T FIS & s B TST SR BT T B, IS IR B F fawmedl H Y I IR P BT F97 B, o b B SR HIe
T BT BT W W AP T4 |

PR PR
’ N ’ .
! I v v

1

A
@ - @

A

AL
A4
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Ao
N

oS
N

Correct Ans : C

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427832 |ike which the paper will appear when unfolded.

t t r -

D 4
>

___‘F-_-I

2 fou MU vy Spfa H U S & e B AIST SR FIeT W1 8, < T IR Bl b Aped H T IW IW P T T B, ST b A R B

T SIS B [ad W NPT I

e

I ! b |

-3 |

I II I

| A — Il _____ I
A bO ¢ d
bo 04
Do 04
PO _&d
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AR}
00 ¢0

OO0 00
LA A

VO T
00 C0

L0 Q¢
Ao

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Which answer figure will complete the pattern in the question figure?
2433184

Uy 3pfa § 3T T Yo B SH-3 IW apfa g1 FHwfe

(2]
-
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7/

Correct Ans : A

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.
2433500
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Correct Ans : D

Subject : General Reasoning

Q.No: 48 Complete the question figure by choosing the best alternative from the answer figure.
2433557
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A
B
—_—
C
—_—
-—
D
-—

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434913
6:232::8:7?
39 fahed &1 787 Y S R T F I UBR el ¥ S gadt e ugel We & Weifdd 2
6:232::8:7?
528
A
528
540
B
540
520
C
520
535
D
535

Correct Ans : A

Subject : General Reasoning
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Q.No: 50 Identify the classes that best represents the relationship among the given diagram.

2435565
I AR B Uga B SN AT MY SIRE & ST Tey T I o ufafifiaE ad &
Hospital, Court, Police station
A
3T, B, IRy W=
Liquid, Pizza, Milk
B
@, fUem, gy
Computer Skilled, computer illiterate, Employees
Cc
LR HIE, FHELI UG, FHARY
Females, Doctors, Patients
D

Afany, sieer, adw
Correct Ans : A

Subject : General Reasoning

Q.No: 51 Identify the diagram that best represents the relationship among the given classes.

2435677
Biology, Botany, Zoology
39 ARG P! TgAH B3 o 13T 7T AR F s e BT Ja9 33T Ul PR g1
Siafase, aafa fagm, witr fage
A /"-_-1“\_‘.‘
( T W
1 ] I|
\ L I N /

A

e TR
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Correct Ans : A

Subject : General Reasoning

Q.No: 52 Study the following information carefully and answer the question that follows.

2726835
>’ denotes ‘+’, ‘<’ denotes ‘-, '+’ denotes '+, '@’ denotes *x’, -’ denotes ‘=’, *x’ denotes ‘>’ and ‘=’ denotes ‘<’, Choose the correct
statement in each of the following questions.
& T SHBRY Bl AFYdS ST B R YD T UY BT I <-
I AP, I ANRARIE. ) I T RERNRE- ) I T AN AT AR L ARSI T A
x' @1 3 > 3R = T 3 <’ B W, R U T vl H QW) wuA -
14>18+9=16+4<1
A
14>18+9=16+4<1
4>3@8<1-6+2>24
B

4>3@8<1-6+2>24
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3<6@4>25=8+4<1

3<6@4>25=8+4<1

28+4@2=7@4+2

28+4@2=7@4+2
Correct Ans : B

Subject : General Reasoning

Q.No: 53 Study the following information carefully to answer the question given below-
2727054

Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the
highest marks is given rank 1 and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more
marks than E but less than D. B got the second least rank and F got the second highest rank, C got less marks than A.

How many students got the marks between F and B?

e SHERt &1 @ryde srwmT w9 e T Uy 1 3w il

BEBH A, B, C, D, E 3R F H&l & 2N o8 3% arat &1 el < safaa) &) T0H I U 181 g3l Ta9 i i Uitd $3 ardl B & 3 1 2 ot
8 ok WY FY 31 U A I1e) BT BI 3 6 & A g1 B BT C 3R F Gl § 1 oics i §1 A &1 E ¥ 3ifde AfsT D I w4 o6 fAId §1 B 3 gt
T B 3 firelt 3R F Y g8 9o I=ad 3@ feht, C 31 A § 5 3 it

F Ul B & o fba ol &) 3ie e 872

None

IS Tl

Three

Two

One

Th
Correct Ans : C

Subject : General Reasoning

Q.No: 54 Study the following information carefully to answer the question given below-
2727055

Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the
highest marks is given rank 1 and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more
marks than E but less than D. B got the second least rank and F got the second highest rank, C got less marks than A.

If second highest person got 42 marks then how many numbers probably got A?

fFafafed THER &1 @ryde e o 1 el T Uy &1 3w il

BEBHAA, B, C, D, E 3R F H& F XY 35 3% 91 3| el & safekaal o1 Tam Yo Ui =1e) §oiT | I 3ifih oicp Ui vl aTet BT &1 ¥ 1 € &y
B ok T FH 31 U A 10 B BT ¥ 6 < WK &1 B BT C 3R F &A1 § 1 oics i §1 A &1 E ¥ 31fs AfhT D I w4 i a1 §1 B &Y gt
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T HH 3P firelt 3R F FHY g8 Ga I=ad 3@ ficlt, C &1 A § &1 o firdl|
I G T WG] 3 TH aTd Bl 42 3 B § df A Y frant oics frem &) Tura 82

40
A

40

a4
B

a4

46
C

46

43
D

43

Correct Ans : A

Subject : General Reasoning

Q.No: 55 In the following question below are given, some statement followed by some conclusion taking the given statement to be true even if
2727105 they seem to be at variance from commonly known facts, read all conclusion and then decide which of the following conclusion logically
follow the given statement.

Statement:

Some curd are white.

Some milk are white.

No white is sky.

Conclusion:

(I) Some milk which is white is also cured.

(II) No milk is sky.

2 feu U Uy F $© FUF 3R 3% 918 I FUAl R A $& e fau U 71 g I I 1 aut § far 81 gt 81 i ey ug faw
fyifa % & fRu 70 o & fAspd, 3y T Hy= & R W giaaw §1

BY:
O 38l 9ba &

9 gY T ¢l

FIE b A Tl
fore:

(1) TS g¥ S Ghg ¢ agl i B
(I1) BTE gy 3MEaH e 1

Only conclusion I follow

Fad Frepd 1 SR T @

B Only conclusion II follow
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Fad Py 11 SFAR0I Bl &
Both conclusion follow

c
31 e SR B ®
None conclusion follow

D

P13 frepd srgavor T8 wvar @
Correct Ans : D

Subject : General Reasoning

Q.No: 56 Three candidates contested an election and received 1136, 7636 and 11628 votes respectively. What percentage of the total votes
2422265 (i the winning candidates get?

T SHiiEaRT 3 Ue gH1d AST SR 3% HH: 1136, 7636 3R 11628 dic U gV ot Swigart & oot Tl &1 fa-r ufaa e gam?

57%
A

57%

60%
B

60%

65%
C

65%

50%
D

90%

Correct Ans : A

Subject : General Maths

Q.No: 57  Kanika went to school for 215 days in a full vear. Ifherattendance is 75%, find the number of days
2422314 gy days on which the school was open.

BT I YR T 219 o e At off | afE Soat SufRif 759 §, 5 A @) Tem Fia sifen
fom faaf pagarum

295 days

295 o
290 days
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290 f&7

291 days
C

291 fa

292 days
D

292 e

Correct Ans : D

Subject : General Maths

Q.No: 58 Two numbers are in the ratio 8 : 9. If the sum of the numbers is 289, then difference between the number is:

2429462

3 Tt 8:9 & U H ¥ Al Terah @1 AT 289 7, A Gemelt ¥ o o 3R ®:

13
A

13

15
B

15

36
C

36

17
D

17

Correct Ans : D

Subject : General Maths

Q.No: 59 The ratio of ages of Priya and her mother is 31 : 38. At the time of Priya's birth her mothers age was 21 year. Find the present ages (in
2429494 years) of Priya and her mother.

for SiR ST T B ST BT SUTT 31:38 § SR 1T F o7 & 0 ST AT BT 31g 21 79 R A form ofR St of &t adfo oy (adf 7 ) 31
Fifo|

93,114

93,114

75, 116

75, 116

85,121

85,121
D 84, 119
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84,119

Correct Ans : A

Subject : General Maths

Q.No: 60 Find the simple interest-Principal = Rs 6400, rate = 6% p.a. and time = 2 years

2432816
YR SIS 1T HIL-TAGT = 6400 IUT, &R = 6% Ui I R I0T = 2 a¥ §?
765
A
765
778
B
778
668
C
668
768
D
768

Correct Ans : D

Subject : General Maths

Q.No: 61 What would be the simple interest obtained on an amount of Rs 5556 at the rate of 10%p.a. after 6 years?

2432885
5556 0T B AR W 10% Wl I8 B &R J 6 a¥ §1¢ Ut g ITelT HTROT SIS BT gITT?
Rs 4456
A
Rs 4456
Rs 6098
B
Rs 6098
Rs 3333.6
C
Rs 3333.6
Rs 5987
D
Rs 5987

Correct Ans : C

Subject : General Maths


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eoogle Play

Q.No: 62 5 _ _ 1
2433005 How many . kg pieces can be cut from a cake of weight 7'5 kg?

TEWW%ﬁﬁEW% e e e ST Thd 27

9
A

9

8
B

8

6
C

6

10
D

10

Correct Ans : A
Subject : General Maths

Q.No: 63 In an examination, a student scores 4 marks for every correct answer and loses 1 mark for every wrong answer. If he attempts all 75
2435202 questions and secures 125 marks, the number of questions he attempted correctly, is:

T Te &, b O & UdP e S F ¢ 4 3% e § iR T Tad IR & 1Y 1 8 &1 IH9H giar 31 afe a8 Wit 75 Ul &1 g0 a1 § 8RR
125 3id I T §, @ 3P gRT Tt 8 b T usi ot e §:

35
A

35

42
B

42

40
C

40

50
D

50

Correct Ans : C

Subject : General Maths

Q.No: 64 Gold is 17 times as heavy as water and copper is 11 times as heavy as water. In what ratio should these metals be mixed so that
2435436 mixture may be 13 times as heavy as water.
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AT R Bt g B 17 AT U B SIR dter ol Y ga & 11 T WY 81 39 ngsh &t fob srqura | il fara s enfew arfes fysror ot @ 13 T
U 8 9o |

2:3

2:3
1:2

1:2

4:5

4:5
3:4

3:4
Correct Ans : B

Subject : General Maths

Q.No: 65 If the price of a flat increased by 15% annually and the present price of the flat is Rs 6,00,000. What will be its price (in rupees) after
2437811 3 years?

Ife, et vt &) Fd B WA 15% 3 S S 8 3R Wie B 9dAH P 6,00,000 39T 21 2 ¢ d1 39H B (IUY H) 741 gnfie

6,90,000
A

6,90,000

7,35,000
B

7,35,000

7,50,000
C

7,50,000

7,93,500
D

7,93,500

Correct Ans : D

Subject : General Maths

Q.No: 66 A sum of money becomes 3/5 times more in 6 years at simple interest. What will be the compound interest of Rs 12000 after 3 years
2439130 4t the same rate?

YR S BT &R W 6 I F TH YR 3/5 AT 31 g1 oielt §1 S R W 3 9§ & 91 12000 0T HT Ahafes SATS I G2
A Rs. 3972
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3972 3qq

Rs. 3792

3792 3qy

Rs. 3960

3960 U4

Rs. 4320

4320 30

Correct Ans : A

Subject : General Maths

Q.No: 67 In certain years, a sum of money becomes three times to itself at approx 7.69% simple interest per annum. Calculate the required
2439155 time.

FE au B, BIS o AR Ul 9 TR 7.69% F YR S W WA BI i A1 81 oIt 81 A 39 A0 siawgs q0g &) 701 HY |

13 years
A

13 99

26 years
B

26 T4

6.5 years
c

6.5 99

39 years
D

39 af

Correct Ans : B

Subject : General Maths

Q.No: 68 A company purchases components A and B from Germany and USA respectively. A and B form 30% and 50% of the total production

2730414 ost. Current gain is 20%. Due to change in the international scenario, cost of the German Mark increased by 30% and that USA Dollar
increased by 22%. Due to market conditions the selling price cannot be increased beyond 10%. Then what is the maximum current
gain possible?

TS SO ST 3R e T SARST ¥ HH: A 3R B IUHRU TIad ¢l A 3R B BT $o IMIG AFTA BT 30% 3R 50% § | IHM AH 20% g
SRIPT URE=d # FaAd & PR, SHA A P BIFd H 30% BT Ifs 81 T8 3R JUUT SeR B! BIAd H 22% i 3fs 81 Ts | TR & Rfdl & FRo0
T Ted 10% ¥ 3ifie TET Serr 51 9whar g1 df ey JuIfdd ada oy @ 82

10%

10%
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12.5%
B
12.5%
0%
C
0%
7.5%
D
7.5%

Correct Ans : A
Subject : General Maths

Q.No: 69  Twao girls are standing on either side of a tower. The angles of depression from the top of the tower are
2781120 observed to be 307 and 45° at the points on the ground where the two girls are standing. If the height of

the tower is 18m, then find the distance between the girls. (Note: Vi=17)

&1 eI5eh! e TTaT & Sl 3R @Y 8] 3% fag X Tra F ofnd & sra=rert & ion 300 31
45° § ST61 d o1 o15eh] @3l g| ATe CTaX &l olFars 18m &, ot eisferal & dier Y gl 7 &Y
(“f3=17)

36 m

36 m

32.6 m

32.6 m

48.6 m

48.6 m

49 m

49 m
Correct Ans : C

Subject : General Maths

Q.No: 70 A man completes the work in 10 days and the women can complete the work in 20 days. In how many days the man with 60%
2781236 efficiency and women with 50% efficiency working together can complete the work?

T 3Medt 10 o & w1 O T B SIR 20 oA H ufieard S g1 R Wt &1 60% G&dT AT GIY 3R 50% G aTel HigeTd U A1 HTH HRab
fbam it & o1 Q1 B Thdl 82

520/17

520/17
B 300/17
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300/17

200/17
C

200/17

100/13
D

100/13

Correct Ans : C

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426642

25+4x2-52+13=51

fou T TR @) 9Et I & e fee <) SRerett &1 emuy o sean o T1fge?

25+4x2-52+13=51

4 and 25
A

4 3% 25

13 and 2
B

13 3R 2

25 and 13
C

25 3R 13

4 and 13
D

4 3k 13

Correct Ans : B

Subject : Mental Ability

Q.No: 72

3420647 Study the two different positions of a dice. When the face containing one dot is at bottom then

how many dots would be there on the top face?

<

3
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v 9 1 & e Fufa & sreae w1 S vw [y arean ses ged A
gl & ar ofd wes W fraer g gl

@ &

6
A

6

5
B

5

4
C

4

3
D

3

Correct Ans : C

Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to
2430229 pe trye even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow
from the given statements. Indicate your answer.

Statements: Many students who do not behave properly even though in the school bring bad names to themselves and also to the
school.

Conclusions:
1. Many students should be removed from the school.

II. Stricter discipline doesn't improve behavior of the students.

Frafafed oy & <1 Py 3R ITF o1 &1 ey (1) 3R (I1) 3T U B 3Mues! Syt &) I AT 8, Yol 8 d GHre: 1d a9 i wredid 81 el
U g 7T HIAT § o oy MU fpl & § o 1, afe B Y, AT T o H7 U HT 81 307 SR BT T IR

HYA: 9gd U BH O Kgol # 81 & Sraqe i AP | HTER eI B ©, I Ge DI AR Kgal B! o g&TH F 3
Ao

1. &3 BE & WGa 9 e fear s arfgul

I1. FOR RN BHT & TAGR H FUR el el 3

Only conclusion I follows

Faa freed 1 IR HIa &

Only conclusion II follows

Faa ey 1T SER0T HaT §
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Either conclusion I or II follows

1 Y fpY 1 a7 11 SR FReT §

Neither conclusion I nor II follow

ot s 1 3R 7T & 11 3RYT FRaT
Correct Ans : D

Subject : Mental Ability

Q.No: 74 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430238 e even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow
from the given statements. Indicate your answer.

Statements: Coal is an inexhaustible source of energy and can convert it into electricity. It has been done in this field the survey
shows that there is a vast potential for developing coal as an alternative source of energy.

Conclusions:
1. Energy by coal is a comparatively new emerging field on earth.

II. The energy crisis can be dealt with by exploring more and more in the field of aerogeneration.

frofafad oy o <1 BT 3R ITF a1 &F FISBY (1) 3R (I1) 3T U B Sueh! Syt &) I AT 8, Yol &1 3 WHre: 1d a9 i wredid 81 e
P! Tg T BT ¢ 6w 1w el & & & @1, afe $1% 21, U T St 1 ures el 713U IR BT T9T R

BYF: HA ol BT TP 3Hge A 3§ 3R 39 et & uRafla o= Twar 71 59 &7 & 5y v gdeor @ uar Iadt § & Siaa & S & dafers Jd &
Y B IaRid 37 3t e YU g

forep:
1. HA GRT SHoll gl WR T SUTHd 71 SHRAT g3 8 g
II. WRISFRIE & & H 31t F 31t Wi R il Yebe § fuer S I B

Only conclusion I follows

A
Faa freed 1 IR Har &
Only conclusion II follows
B
Faa sy IT SER0T HaT §
Either conclusion I or II follows
Cc
a1 a1 ey 1 a7 11 SR HRaT @
Both conclusion I and II follow
D

freed 1 3R 11 Y 3R Fa &

Correct Ans : D

Subject : Mental Ability

Q.No: 75 Which two signs should be interchanged to make the following equation correct?
2436532
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40 =20 +50-10 x4 =40

fFafafea afteo o I8 R & g {5 < Govdl &1 RER 3o & 9ear ST anfeu?

40 =20 +50-10 x4 =40

* and +
A

* ¥+

+ and -
B

+ 3R -

—and =
C

_ 3=

+and =
D

+Hr =

Correct Ans : C

Subject : Mental Ability

Q.No: 76 Ravi remembers that his mothers birthday is between 13th and 19th April. His Brother remembers that their mothers birthday is
2437410 petween 17th and 23rd April. If both of them remember correctly and on which day is their mothers birthday?

M B T1e § P ITB! AT BT ST AR 3R I 30d & S Bl ST IS Bl UG © b I! AT BT SHAfe T8 ¥ 959 3ld & o9 g1 afe 37
31 Y 31p q TIE § 3R ITH! Al BT S b 7 82

17th
A
174
18th
B
184
17th or 18th
C
173ar18d
12th
D
129

Correct Ans : B

Subject : Mental Ability

Q.No: 77 Suresh was born on 4 October 1999. Shashikant was born 6 days before Suresh. The Independence Day of the year fell on Sunday.
2437431 \hjch day was Shashikant born?
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G BT O 4 SFEER 1999 BT 3T UTI AMRABIA BT 5 X I 6 37 ygel ganm 1l Al &1 Wl 37 AJaR &) 11 Afrebia &1 54 54 3 gan
uT?

Tuesday

HIAAR

Wednesday

qYUarR

Monday

Sunday

IR

Correct Ans : A

Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller
2438454 (ypes have exactly two painted faces?

T O Bl e e o1 € 3R 64 B 3R FAM BT & Bler o1l 8, 8 el bl gaad THa g 811 frda gie oot & 3l &1 11 gU s 82

24
A

24

26
B

26

28
C

28

32
D

32

Correct Ans : A

Subject : Mental Ability

Q.No: 79 Complete the following series
2438774

12,6,6,9,18,45,7?

frafafea g & g B
12,6, 6,9, 18, 45, ?

A 135
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135
1475

1475

1075

1075
105

105
Correct Ans : A

Subject : Mental Ability

Q.No: 80 When Aman told Sana about Ravi, He said ‘He is the son of my mother’s husband’. Who is Ravi to Aman?

2439341
TS S A T HI A F IR T I, d I BT ‘98 A A F U BT 9Tl 7| 3 & A I DI &2
Cousin
A
TRT UTE
Brother
B
urg
Father
C
foram
Uncle
D
T[T

Correct Ans : B

Subject : Mental Ability

Q.No: 81 If the sum of three consecutive numbers is 15, what is the square of the middle number?

2442246
e & HAFTT SRearsft &1 A 15 § 9 qe = &1 9 . g
16

A
16
25

B
25
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36

9
Correct Ans : B

Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442755
CARBONDIOXIDE

U U dwfcte wsal & | a8 et gAY S 3T U X & SHeRT BT YN HRPp gt ST S Fehall|
CARBONDIOXIDE

Board

Board

Bond

Bond

Diode

Diode

Bones

Bones
Correct Ans : D

Subject : Mental Ability

Q.No: 83 In making decisions about important questions, it is desirable to be able to distinguish between ‘strong’ arguments and ‘weak’

2442899 arguments. ‘Strong’ arguments are those, which are both important and directly related to the question. ‘Weak’ arguments are those,
which are of minor importance and also may not be directly related to the question or may be related to a trivial aspect of the
question. The question below is followed by two arguments numbered I and II. You have to decide which of the arguments a strong’
argument is and which a ‘weak’ argument is

Statement:

Is the government justified in spending so much on defence?
Arguments:

1. Yes, safety of a nation is of prime importance.

II. No, during peace this money could be used for the development of the country.

@yl U= & IR § Fvfa #7 & kg, ‘gea iR 'goa dof § B A1 ool 81 "Gad’ b AT 3R U J Tefdd 71 ‘gaet’ d Y Magd
3R U ¥ Uy ¥U § Gefd & Ibd § a1 71 ©) Jobd | e U H U e 3R 3P 91 & a9 [ 3R 11 iU T ¥ U 9 #e @ i, Refafad
o H F BIF-H IF T9d & R SH-I 5 gad 8

PY:

T WPR GRT T BT 571 T BT 3T 22
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qH:
1. &, o BT GRE T MagehT 3
I1. =T8T, Ticht & SR 37 07 &) < & b & ITNT fha S gebart B

Only argument I is strong

A
Fad aF I 9ad 7
Only argument 11 is strong
B
Faa b I1 99d §
Either argument I or II is strong
Cc
qr Y 9 1 a1 11 99a §
Neither argument I nor II is strong
D

A1 dt ab I 3R AT 8 1T gew @

Correct Ans : A

Subject : Mental Ability

Q.No: 84 If Q = 8.5 and JOY = 25, then how will you code FROZEN?

2727628
gfe Q = 8.5 3R JOY = 25, @ 3T FROZEN &1 FE Y fora?
60
A
60
46
B
46
48
C
48
42
D
42

Correct Ans : D

Subject : Mental Ability

Q.No: 85 A, B, C, D, E and F are sitting in a row facing west, C is between A and E, B is just to the right of E but left of D. C is sitting to the
2782044 jmmediate right of E. F is at the extreme left end. Which pair is sitting by the side of D?

A/ B, C, D ERFIBHBI REIE IR @ FIR T IS EUE IC, ASNREF I A BTGB 1B, EF b e, gD F I AR I C,
EFSH U ATBIGN T | FAUBR & Sfd W ¢ | FH B F HH-1 NS D & S7Td H IaT gaiT 82

A Eand B
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E 3R B

Band F

B3R F

AandF

A3NRF

Cand A

C3RA

Correct Ans : B

Subject : Mental Ability

Q.No: 86 If the HCF of 1120 and 1470 is expressible in the form 1120x - 1470 x (3), find x.

2427198
Tfd 1120 3R 1470 BT HCF 1120x - 1470 x (3) ¥ ¥U H o fba1 &1 Iobel 8, Y x F1d S|
2
A
2
3
B
3
4
C
a4
5
D
5

Correct Ans : C

Subject : General Aptitude

Q.No: 87 The least number which is a perfect square and is divisible by 20, 24 and 30. Find out the number.

2427260
9% DIt ¥ B W S U guf ol 3 $R 20, 24 3R 30 ¥ fursy §1 e I1d iR
3600

A
3600
1500

B
1500

C 400
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400
2400

2400
Correct Ans : A

Subject : General Aptitude

Q.No: 88 A man travels a distance of 1331km in 11 hours by train. Calculate the speed of train in km/hr.

2427280

T el ¢ ¥ 11 W H 1331 et 3 gt qu wvar 8 | fpdiyder & 99 &t wfa &1 A 31d it

141 km/hr
A

141 it der

110 km/hr
B

110 feefi/der

121 km/hr
C

121 fefi/der

150 km/hr
D

150 f&dt/der

Correct Ans : C

Subject : General Aptitude

Q.No: 89 An aeroplane goes a distance at a speed of 390 km/hr in 5 hours. If we want that aeroplane should cover this same distance in
2427339 3 hours, its speed must be:

TP TIRIWH 5 8 § 390 /gl #I IR Y g ag wRar g |
a7 1 916d § fF 591 9IeTel 3 00 H 39 U € g8t B FR BT IR, IHH! A ST AT

550 km/hr

550 f&t/der
650 km/hr

650 ft/der
250 km/hr

250 fet/ger
300 km/hr
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300 i /Her
Correct Ans : B

Subject : General Aptitude

Q.No: 90 Two trains travelling in the same direction having speed 60 km/hr and 24 km/hr, if they completely cross each other in 3 minutes. If
2427374 the first train length is 300 m, then calculate the length of the second train.

T & o= # amn B arel &) 3 R i 60 fpHi/eier 3R 24 fpHi/Her B, oR 3 3 e § T @RE V TH-GIR B UR B4 B
TR UG 7 B dals 300 Hiex § o GERI o FI AT BI MUMAT HY |

3000 m
A
3000 Hiew
2500 m
B
2500 Hlex
3500 m
C
3500 Hex
1500 m
D
1500 Hex

Correct Ans : D

Subject : General Aptitude

(224'\;01:29912 OA, OB, OC are 3 lines in a plane which meet at O. If the angles #AOB, #BOC, #COA are 2x, 5x, 8x respectively
(where x is a positive angle), then x equals:
% HAGA H o {@W 0A, OB, OC & &1 & O X e & If #1971 £LAOB, £BOC, £ COA ®H3T: 2X, 5X, 8X & (S8l X &AH®
HIOT &) 79 x T B
24°
A
24°
189
B
18
5
C
159
s (P
D
120

Correct Ans : A

Subject : General Aptitude
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Q.No: 92 What should come in place of the question mark (?) in the following question?

2432021
[{(486)2=(27)2} % 15] =12="2
fafafaa uy & uyarms fg (?) & RIFA R F1 3T I1fRT?
[{(486)2=(27)%} % 15]=12="
365
A
365
375
B
375
385
C
385
405
D
405

Correct Ans : D

Subject : General Aptitude

Q.No: 93 36 persons working 8 hours a day can do 3 units of work in 12 days. How many persons are required to do 5 units of that work in 16
2436082 days, if they work for 6 hours a day?

36 3cHl fafcT 8 deT P PR 12 AT H 3 3 BH BRA &l 16 AN A IH PH B 5 P B P S AT fba cafaaa Bt
fraegerdl anlt B, Al 3 URife 6 der BT P 87

45
A
45
50
B
50
55
C
55
60
D
60

Correct Ans : D

Subject : General Aptitude

Q.No: 94 Three painters have to spend 6 hours a day for 12 days to finish a work. If after 3 days one painter leaves, in how many days the
2436089 remaining work will be completed'?
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D

@7 Rt & 12 e & faw we W & i 6 62 ufa o7 wd o7 usd €1 afe 3 it & 91w REeR Feadr 7, d 99 & feam fof & g
152
2z
132
2
152
3
152
3

8

8

11
11

Correct Ans : A

Subject : General Aptitude

Q.No: 95
2436113

A can do a piece of work in 8 days and B can do it in 10 days separately. How many days would it take for both A and B to finish the
same work together?

A frsht & &1 8 fe B IR vl § 9IR B IW 0 H1 10 &7 & R THa1 ¢ | ST A SR B e It & &1 fvdw feT B @1 B8

33
= days

33
]

40

;days
0

9

41

= days
At

i

42
—days
11 Y

42
11

Correct Ans : B

Subject : General Aptitude

Q.No: 96
2436201

If the 8-digit number 2074x4y2 is divisible by 88, then the value of (4x + 3y) is :

g 8 -3 B WA 2074x4y2 88 T IUT B, & (4x + 3y) B AAS:
49

49

36

36

42
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42

45

45
Correct Ans : D

Subject : General Aptitude

Q.No: 97 In how many different ways can the letters of the word 'WORKSPACE' be arranged in such a way that the vowels always come
2444140 together?

eq 'WORKSPACE' & 3{&R} o fba 3rev-3ra aiieh! § 39 UPR HafRyd fohar off bl © b TR 0 U 1y 3MT?

4320
A

4320

30240
B

30240

26450
C

26450

5380
D

5380

Correct Ans : B

Subject : General Aptitude

Q.No: 98 Four dice (six faced) are rolled. The number of possible outcomes in which at least one die shows 2 is:

2444385
B BoD! b IR TR B a §1 T grfaa uRkomel &t e, 58 B9 I 9 U Ui 3 2 B axiidT 8, §
1296
A
1296
625
B
625
671
c
671
653
D
653

Correct Ans : C
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Subject : General Aptitude

Q.No: 99 What should come in place of question Mark ‘?’ in the following number series?
2444747

12, 35, 106, 317, 952,

fefaRad Tem faar § U= g ‘2’ & RIM R &1 S{IE?

12, 35, 106, 317, 952,

2851
A

2851

2855
B

2855

1851
C

1851

1849
D

1849

Correct Ans : B

Subject : General Aptitude

Q.No: 100 The sides AB and AC of AABC are produced D and E. respectively. The
2730256  isectors of 2CBD and <BCE meet at P. If 2P = 54° find the measure of £A.

31T ABC &1 9311 AB H AC & 1: D 3 E 911 &1 10T CBD 3K 10T BCE
& TastTeies Tdg O f&¥erel 81 ATE P = 54° & T 19T A &1 AT AT SHITIT)

720
A

720

36°
B

36°

480
C

480

28°
D

28°

Correct Ans : A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Subject : General Aptitude
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